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All Candidates' performance across questions

If you are accessing this
document in a web
browser and are only
able to see this single
page, please download
the document and re-

Question Title N Mean SD Max Mark FF Attempt % o
1 126 04 05 1 38.9 100 open it in Adobe Reader
- - - in order to fully access
3 126 08 04 1 778 100 the exemplar material.
5 126 2.5 1.3 6 41.4 100
6b 126 1.9 2.1 8 23.4 100
1b 126 0.4 0.7 2 18.3 100
1d 126 2.4 2.2 8 29.5 100
2b 126 1.5 1.6 6 24.6 100
Cla 38 0.9 0.8 2 47.4 30.2
Clci 38 1.2 0.7 2 59.2 30.2
C2a 38 0.8 0.8 2 39.5 30.2
C2c 38 0.8 1.1 4 20.4 30.2
Dla 88 1.9 1.6 6 32 69.8
Dilc 88 0.9 1.1 4 23.6 69.8
D2b 88 2.5 1 6 41.5 69.8
D2cii 88 1.6 1.3 4 41.2 69.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(@)

Identify specific examples given in the Introduction, and match these with the
appropriate elements of a SWOT analysis for Racing Lines . (8]
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1.

Racing Lines is owned and run by Maria Davies. As an experienced entrepreneur, Maria uses
various business decision-making tools to help her run successful businesses. One tool she
uses is SWOT analysis.

(@)

Identify specific examples given in the Introduction, and match these with the
appropriate elements of a SWOT analysis for Racing Lines.

(8]
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Section B

Question

Answer

LO

AO

Mark

1. (a)

Identify specific examples given in the Introduction,
and match these with appropriate elements of a
SWOT analysis for Racing Lines.

Award 1 mark for correctly identifying and matching of
strengths (maximum 2 marks)

Award 1 mark for correctly identifying and matching of
weaknesses (maximum 2 marks)

Award 1 mark for correctly identifying and matching of
opportunities (maximum 2 marks)

Award 1 mark for correctly identifying and matching of
threats (maximum 2 marks)

Indicative content:
Strengths: experience of Maria as entrepreneur; varied
pricing structure; wealth of Maria; car parking facilities

abundant and free; unique business in the locality.

Weaknesses: location only accessible by road, so limited
footfall and passing trade.

Opportunities: growing niche market; provide in-house
catering; expand to other units on the industrial estate.

Threats: competition entering niche market; no residential

development in immediate area; cinema and bowling
complex is a substitute good.

Accept any other valid points.

2.1







(a)

8 marks
awarded.
Candidate
correctly
identifies and
matches
internal and
external
factors.
Exemplary use
of the
introduction
text made. In
particular, the
point that
college
learners may
be a source of
custom when
they are going
to college is a
good one.

Identify specific examples given in the Introduction, and match these with the

appropriate elements of a SWOT analysis for Racing Lines -

[8]
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1. Racnng Lines is owned and run by Maria Davies. As an experienced entrepreneur, Maria uses

various business decision-making tools to help her run successful businesses. One tool she
uses is SWOT analysis.

(@) Identify specific examples given in the Introduction, and match these with the
appropriate elements of a SWOT analysis for Racing Lines. (8]
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Sticky Note

6 marks awarded. Since two strengths, two weaknesses, one opportunity and one threat are correctly identified and matched.  Focusing upon the opportunities and threats, where full marks were not awarded.  The point that Racing Lines could expand into rental units nearby constitutes a relevant opportunity.  However, the point that Racing Lines could ‘expand into major local distribution channels like local famous companies’ does not constitute a relevant opportunity. The candidate has misunderstood what ‘distribution depots for major companies’ are.  The point that other activity related business nearby could affect is creditable, it being a valid external threat.










1.

Racing Lines is owned and run by Maria Davies. As an experienced entrepreneur, Maria uses
various business decision-making tools to help her run successful businesses. One tool she
uses is SWOT analysis.

(@)

Identify specific examples given in the Introduction, and match these with the
appropriate elements of a SWOT analysis for Racing Lines.

(8]
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Sticky Note

5 marks awarded. As one strength, one weakness, two opportunities and two threats have been correctly identified and matched. In summary, the creditable points are that Racing Lines is a unique business – ‘there being nothing like it in the area’.  The lack of footpaths and rail links is a clear weakness for the enterprise.  An external opportunity is for Racing Lines to expand into another unit.  While the fact that Racing Lines might face direct competition from another business offering virtual reality simulators experiences in the local area poses an external threat.







1.

Racing Lines is owned and run by Maria Davies. As an experienced entrepreneur, Maria uses

various business decision-making tools to help her run successful businesses. One tool she
uses is SWOT analysis.

(@) Identify specific examples given in the Introduction, and match these with the
appropriate elements of a SWOT analysis for Racing Lines.

[8]



























Racing Lines currently has 20 VR simulators which are in constant use. Maria is considering
purchasing another 10 to meet increasing demand, although it may not be possible to
accommodate all of these within the unit she currently rents on the industrial estate. She is
hoping to benefit from economies of scale.

(@ Define the term economies of scale. 2]
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Question

Answer

LO

AO

Mark

6. (a)

Define the term economies of scale.
Award 1 mark for each valid point (maximum 2 marks)
Indicative content:

Economies of scale are reduction in average units cost
an organisation gain as they scale up via growth.
Large-scale organisations tend to have greater
productive efficiency. Economies of scale can be
realised in a few ways, from bulk-buying discounts to
division of labour specialisation. Purchasing 10
additional VR simulators will increase Racing Lines
scale, although it is not guaranteed that they will gain
economies from doing so.

Accept any other valid points.

1.4











0 marks awarded. The candidate does identify that economies
of scale can be both internal and external. However, this point
does not really contribute to defining economies of scale.













Sticky Note

2 marks awarded.  As two valid points are put forward that fully define the term economies of scale.  One mark being awarded for the point that ‘average cost becomes lower per unit’, while the other mark is awarded for realising this occurs as ‘as output increases’.  Full understanding of economies of scale demonstrated.










Racing Lines currently has 20 VR simulators which are in constant use. Maria is considering
purchasing another 10 to meet increasing demand, although it may not be possible to
accommodate all of these within the unit she currently rents on the industrial estate. She is

hoping to benefit from economies of scale.

(@ Define the term economies of scale. 2]
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of exemplification. Partial understanding of
economies of scale demonstrated.







Racing Lines currently has 20 VR simulators which are in constant use. Maria is considering
purchasing another 10 to meet increasing demand, although it may not be possible to
accommodate all of these within the unit she currently rents on the industrial estate. She is
hoping to benefit from economies of scale.

(@) Define the term economies of scale. [2]













(d) Assess two challenges for business owners when using digital marketing for their
business. 6]







(d) Assess two challenges for business owners when using digital marketing for their
business. [6]
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Assess two challenges for business owners, such as
Maria, when using digital marketing for their business.

0 marks: Nothing worthy of any marks.

Level 1 (1-2 marks): Answer demonstrates limited
knowledge of challenges of digital marketing. Assessment
of one and/or two challenges in point form. Application to
business owners is limited. Information is poorly
organised. Answer conveys meaning but lacks detail. Little
of no use of specialist vocabulary.

Level 2 (3-4 marks): Answer demonstrates good
knowledge and understanding of challenges of digital
marketing. Assessment of one and/or two challenges with
points partially developed into chains-of-reasoning.
Application to business owners is good. Information is
well-organised. There is good use of specialist
terminology.

Level 3 (5-6 marks): Answer demonstrates excellent
knowledge and understanding of challenges of digital
marketing. Assessment of two challenges with points fully
developed into chains-of-reasoning excellent. Application
to business owners is excellent. Information is very well-
organised. Specialist terms are used with ease and
accuracy.

Indicative content:
The main challenges of digital marketing include:

Intensifying competition

Proliferation of channels

Volume of data

Lack of digital knowledge and skills of business owners

More and more organisations are undertaking digital
marketing, thus increasing the level of competition. This
will make it challenging for organisation’s digital marketing
to generate impressions.

New digital marketing channels are appearing on ongoing
basis. Taking the form of social media networks or apps.
It takes time and effort for businesses to master new
digital marketing channels.

Analytics aside, the volume of digital marketing data is
excessive. Making it difficult for a business owner to read
what the data is telling them. Some business owners
struggle to make sense of the data.

Not all business owners have the know-how with regards
to digital marketing.

Accept any other valid points.

3.3
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Sticky Note

Good knowledge and understanding of challenges of digital marketing. The point that digital marketing trends change and, as such, require constant training of business employees represents a partial chain-of-reasoning. There is some development of a partial chain of reason with the second challenge from the online malfunction point.  But the ‘online malfunction’ point is somewhat unclear.  Information is well-organised, for its part. There is good use of specialist terminology in terms of ‘trends’, ‘advertising and ‘profits’. On balance, a response worthy of a Level 2 banding and 3 marks. 






(d) Assess two challenges for business owners when using digital marketing for their
business. 6]
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(d) Assess two challenges for business owners when using digital marketing for their
business. [6]
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Sticky Note

good knowledge and, more significantly, understanding of challenges of digital marketing demonstrated – in the form of ‘trolls’ and ‘incorrect analytics’ points. Partial chains-of-reasoning evident, which are not strong enough for a Level 3 banding.  Good use of specialist terminology such as ‘potential customer’ and ‘direct advertisement’.  On balance, a response worthy of a Level 2 banding and 4 marks.











(d) Assess two challenges for business owners when using digital marketing for their
business. [6]








